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< BHEKXKFE> 1 i 3537.6 =
512#| 53] AR60M S1 S2 S3 S4 S5 S6 BA a5t
71 14| #AHEHMH |101.9]102.9(102.2|104.6 | 103.6| 102.5| 617.7
216 57k R | 100.1(102.9]101.8|102.5|102.5|101.6| 611.4 1835.6
318 ST #9% | 102.2| 99.8 | 101.1| 101.8| 100.8 | 100.8| 606.5
SEE| STEE FR3x20 s1 S2 S3 S4 S5 S6 Ba &5t
2 110 MmEB¥HEE 95 97 96 99 95 94 576
1|5 PE 97 95 97 94 88 96 567 1702
3] 4 AR BER 94 88 95 96 90 96 559
< BB KE> 2 i 35320 =
SEE| STEE AR60M s1 S2 S3 S4 S5 S6 Ba &5t
7115 #AMA | 104.4|103.5(103.0(100.1|102.3|101.9| 615.2
2 114 EEXA |101.9]102.9(104.2]|101.9(103.3|101.0| 615.2 1845.0
3 |113| AA%%E |102.1]104.0(100.5]103.6(101.9|102.5| 614.6
SEE | STEE FR3x20 Ss1 S2 S3 S4 S5 S6 B &5t
3110 B0 ®Ex 94 98 98 98 93 89 570
219 WH %F 94 94 96 94 90 93 561 1687
1|4 EENE 90 90 99 97 90 90 556
<EBEERBKE> 3 3469.5 =
SEE | STEE AR60M Ss1 S2 S3 S4 S5 S6 B= &5t
7113 i@ & |101.6| 101 | 99.8 | 100.7|102.3| 102.1| 607.5
316 R BEE | 102.8 [ 102.8| 97.1 | 102.7 | 99.5 | 102.2| 607.1 1809.5
2 | 10| #BHIEABER | 89.8 | 102.8|102.1]101.9| 97.2 | 101.1| 594.9
SiaE( g FR3x20 s1 S2 S3 S4 S5 S6 B &5t
1109 ISP 96 96 91 93 93 97 566
215 /PR B 90 87 95 94 90 96 552 1660
319 A E 87 88 94 93 89 91 542
< kB> 4 i 3468.6 &
598¢| 5|  ARG60M S1 $2 | s3 | s4 | S5 | s6 | f&m At
3|17 FIRK 101.8|100.9| 103.5| 102.7 | 103.8| 101.3| 614.0
7111 | #=F FEK 99.9 | 101.6|102.9| 101.7| 103.8| 103.7| 613.6 1838.6
2 116 XX 2# |101.3]101.0(102.3]|103.2(101.3|101.9| 611.0
58%| 5t R3x20 s1 S2 s3 sS4 S5 s6 | /& At
2 | 11| &HHEEX 90 85 96 98 92 96 557
1|6 FE MK 88 93 94 95 86 87 543 1630
316 KR L8 80 82 95 91 92 90 530
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518|518  AR60M st | s2 | s3 | s4 | s5 | s6 | B& &

anl
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2|7 TTH® 100.6( 100.2 | 101.9| 101.7| 102.3 | 97.6 | 604.3

7112 BT &S 101.2(102.0] 99.8 | 97.3 | 99.4 [ 100.7| 600.4 1802.2

3110 R & 102.4( 99.9 | 98.6 | 99.3 | 96.5 [ 100.8| 597.5

SEE| STEE FR3x20 s1 S2 S3 S4 S5 S6 Ba &5t
1|8 =T EE 90 93 97 97 92 90 559
315 IR Fe 92 95 92 91 90 90 550 1644
2| 4 TH & 90 87 87 91 91 89 535
< ABKE> 6 fi 3418.7 =&
SEE| STRE AR60M s1 S2 S3 S4 S5 S6 Ba &5t

718 =tE RX 98.2 [102.9(103.8| 99.8 | 103.8| 103.3| 611.8

2 |11 =5 e 100.8 | 98.5 | 99.4 | 100.8| 101.4 | 101.4| 602.3 1800.7

3116 7+t 742 | 955 | 96.6 | 101.3| 96.8 [ 97.8 | 98.6 | 586.6

S| STEE FR3x20 S1 S2 S3 S4 S5 S6 Ba &5t
3|11 5% B 90 91 94 94 84 91 544
1|11 =iE BX 94 90 95 90 83 90 542 1618
2| 8| &5 KK 92 90 95 95 85 75 532

< B HKZE> 7 fI 33075 =

SEE | STEE AR60M Ss1 S2 S3 S4 S5 S6 B= &5t
6 | 12| 1EBEIH— 98.8 | 101.1] 99.2 | 99.3 | 101.5| 99.1 | 599.0

7] 10 i BE 93.6 | 94.4 [ 95.8 | 96.6 | 97.0 | 100.5| 577.9 1748.5

319 atg kB 935 | 93.2 | 965 | 934 ] 97.9 | 97.1 | 571.6

SiaE( g FR3x20 s1 S2 S3 S4 S5 S6 Ba &5t
2 6 &£/ Th— 91 83 95 97 91 85 542
3] 8 =iE BAE 76 83 91 96 88 82 516 1559
1110 & e 79 89 90 91 80 72 501
< KE> 8 fi 0.0
SiaE( g AR60M s1 S2 S3 S4 S5 S6 B &5t
0.0
0.0 0.0
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